Tuesday 3+ November

LC : I can solve problems involving subtraction by breaking apart

There are 10 pennies in totdl.

So there are 7 pennies in the money box.

There are 9 party hats altogether. 4 of them are red. The rest are
blue. How many are blue?
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There are __blue party hats.
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In total there are 8 counters.

How many counters are there o @
in the bag? ® @
Show this in a part-whole model O

and as a calculation.

There are no more than 10 counters in
total.
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How many counters could be in the bag?

Why can't it be six?



